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2 ZRBE f(x,y) ICXTL,
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(1) 22D 2EEBEE x = o(u,v), y = Y(u,v) Z f(x,y) ICRA LT-EE
Z(u,v) ;= | f(e(u, v), Y(u,v))
(FIRITEEL v, 0 D 2EHEAH 5.5, COBEBDORERELAIT

2u(u, v) = fr((ut, 0), Y(u, v)) (1, v) + fi (@), Yu, V) Y (1, ),
zo(u, 0) =f(@(ut, v), Yu, v)) @, (1, V) + f,(@(1), Y(u, V) Y, (1, v).
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BleE | ROBE z = f(x,y) & (x,y) = (rcos 6, rsinf) CIREEIZEZHL, r, 6 (CF

L TR LB T L.
B3) fx,y) =x>+y°
[fR1] B ZERIT DL

z = f(rcos@,rsinéf) =(rcos 0)* + (rsin §)°
=r?(cos® 6 + sin® )
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IR | XOB z = f(x,y) & (x,y) = (rcosb, rsinf) EIBEIZEHEL, r,0 ICB

L TRMGT LT
B3) fx,y)=x*+y°

(X, y) =2 X, = —(rcosf) =
2] aREHORIIoARENRY S Y T2 LT
fy(-xa y) — zy yr o —(}/‘Sing) = S
\ or
( O .
Xg = %(rcos 0) = —rsin6
4 5 &7,
\ Yy = %(rsme) =rcosd

zr =fx(x,y) x, + f,(x,y) y, = 2rcos @ - cos @ + 2rsin@ - sin 6 = 2r,
20 =fx(x,y) xo + f,(xX,y) yg = 2rcos @ - (—rsinf) + 2rsin6 - rcos 6 = 0.
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Bl4a) flx,y) =

X2 + y?

BI3) CERIC, 2 BD DFETREEARERDTHELS.

§1.4 TSR £DWT HEI+—2KB T8F) (83 &k LK) 10/10



